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(4] Many animals and birds will have to move to different places because they will lose places to live,
(18 words)
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1 changed how I spend the weekend. I used to wake up late but now I
— wake up early in the morning and finish my homework before lunch.
Now I have more free time. (34 words)
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| There are three students walking next to each other. There is a man behind —
them and he wants to pass them because he is in a hurry. The students should
—————— stay on one side so other people can get through. It is important to think about +————
other people when you are in public places. (54 words)
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